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OuUEtd JI2HIZ2X B 16,727
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-2t 2 X 20l I+ 0] 33,0003 * 436 * 12& 1,584
202 o4 Hl 9,072 12,960 A 3,888
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OntsgdsAAE SXH 250,0008 * 310 A 7,750
SEXNS Z2HISEL 7= 105,600 0 105,600
< 31,680
[ia 73,920
402 RIZ2ERt20l ™ 105,600 0 105,600
< 31,680
e 73,920
03 212t EF AL HI 105,600 0 105,600
O s&EXg Z2Hdsegd = 105,600,000& 105,600
= 31,680
i 73,920

_44_




A 00820
HE: HEE Y RSN AY L
ool gyFERYL CERED
= s
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
a2 e 2,242,303 2,704,020 AN461,717
< 289,632
= 1,952,671
SE2AMUEH 23 1,296,671 1,602,344 A 305,673
101 124 4] 254,613 291,154 A 36,541
03 RIHAZZ2NE = 217,224 236,232 219,008
OSEZHMUE RIANAZ 2R B
3,017,000 » 6% » 12& 217,224
04 JIZAtNZ22XNSE+ 37,389 54,922 217,533
OSEHMME JI2ZH22N B 37,389
=0 1,880,000& = 2& = 8& 30,080
“AMRIEE JI2ARE 2 30,080,000& * 11% 3,309
-El83 4,000,0008 » 1&H 4,000
201 YEt2 | 850,920 854,550 3,630
01 AtR 22l | 2,700 4,350 A 1,650
OSe2MuE Let=3H 3,000,000& * 70% 2,100
OSYZMUEH F+I] SXE
50,000& » 123 600
02 33=29Hl 848,220 850,200 21,980
OZESHY HEHg(2H-USHET L)
600,000& = 12E 7,200
OgddEXMeINI 3 (Helolgds Mae
HE sE0S2EE) 546,960
ak=icIRa = 75,000 = 53024 = 12& 477,000
A PN E=¥=3 11,0008 5302l & « 128 69,960
OgadEExMelINI 3202148 &7 &X2) 18,060
-NEIHE 75,0002 = 353 & * 6 15,750
P PN =3=d 11,0008 = 353l » 6& 2,310
OaFZHNINI SNES(HAZA ZF)
143,000,000& 143,000
OSE2HUH ANAY SAEX(HUZAl 28
) 133,000,000& 133,000
202 044l 5,138 7,340 N2,202
01 = LHO I 5,138 7,340 N2,202
OSgZNE g2F8 ol
7,340,000& * 70% 5,138
405 Xt &HE S b 186,000 449,300 263,300
01 ML ESF=H 186,000 449,300 A 263,300
OMZ AR <0H 86,000,000& = 1A 86,000
OSEZNME JtatatAt 0K
85,000,000& = 14! 85,000
OYAZAZHNAE eI 204
15,000,000& = 14! 15,000

_45_




fAd: DICHEZ 0
B ¥os U RSN Ay Ys
& SNFERI 2 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
=SS W CCTV HAH A 289,632 314,976 N 25,344
< 289,632
101 @124 289,632 314,976 A25,344
< 289,632
03 RIHAZZ T E =+ 289,632 314,976 N 25,344
Ox=sSstucCTV ZLIHE RIAHA2ZI 2T B
3,017,000& » 8H » 12&8 289,632
< 289,632
OFM HJAFEXCINI 25 656,000 664,700 A8,700
401 AIEHI L 2 0] 656,000 664,700 A 8,700
01 A& Hl 656,000 664,700 A 8,700
OMEAINE FAZLH2II 23|
205,000,000 205,000
Oszltsds S4FEEXM2II &
208,000, 000& 208,000
Ok J&4FEXelII WA 223,000
-HEOINE JAFEXMS DI wH
168,000, 000& 168,000
-XELEHE JAFEEXM2II nH
55,000,000& 55,000
OZH4EEHMeIII £l 0l S
20,000,000& 20,000
HH2LZH(0DICIHEE ) 28,687 32,662 23,975
Jledul(0iCioEE 1) 28,687 32,662 A3,975
Jl22Z34 28,687 32,662 A 3,975
201 Let24d] 23,407 26,062 A2,655
01 At 22l 22,264 24,430 22,166
Oget==EH| 5,540,000 5,540
o=l 5,840,000 5,840
O=SAI Xtz 330,000& = 104 = 123 3,960
O&F=)| gtz 50,000 = 2CH = 12& 1,200
OHEEH 2235 2| 5,724
-Zo{ZeH 3,960
E4
440,000& = 104 = 43 * 23] = 90% 3,168
- &4 440,000& * 104 = 28] » 90% 792
-otZely 200,000& * 408 * 23] * 90% 1,440
—-FAX 120,000& = 1CH = 33l = 90% 324
02 =24l 1,143 1,632 A 489
O#HIAH RANLZ2H(0ICIHE L1 1,143
-GS AR 121
1,300,000 * 20CH = 5% * 70% 910
-Zelg 4,000,000& * 4CH = 2% » 70% 224

_46_




fAM: 0ICHELS
M HH2IZH(DICHEED)
el JI=23H(0I0AHE21)

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

—-FAX 600,000& = 1CH = 2% » 70% 9

202 oddl 1,680 2,400 AT20

01 = LH 4 1l 1,680 2,400 AT20

OoftE=E20 2= Kl

2,400,000& = 70% 1,680

203 YR =&l 3,600 4,200 A 600

04 NI 3,600 4,200 A 600
ORAN2EYE=AHI 300,000& = 123 3,600

_47_






